No.| REVISIONS | BY

EL=23.31 \
HEADWALL ~* I:rr-/ @

CAMERON COUNT Q Q

,
OSBRI IR SRIT ST

BENCHMARK #2:
SQUARE CUT ON
CONCRETE
N:16524400.762
E:1302707.323

\/

GMS ARCHITECTS

1150 Paredes Line Rd.
Brownsville TX 78526
(956) 546-0110
fax (956) 546-0196

0

TR

W

LIMITS OF CONSTRUCTION

Y

O] —AAA[bVUi[—[SVU]”—[s

IDEA PUBLIC SCHOOLS
CAMP RIO ADVENTURE ROPES COURSE

ol N
I <
U LLI
=
T L]
& -
: —
Iy 7))
S

Y

M

Public Schools

(1 //////%7//’ G X

<
LL]
0O
\
\

On

© Copyright 2024
Gomez Mendez Saenz Inc.
Architects-Planners

\ Interior Designers

Date:
October 2024

Scale:
As Noted

Project Architect:

Roan Gomez, AIA
Drawn By:

$¥9]

CG,RG

Job No.

1 OVE_RALL SITE PLAN et IDEA Camp Rio Ropes
A1.01

z

— [svo] ——{svDl

Nov 13, 2024 — 9:41amC:\Users\rgg\Dropbox\2024 IDEA Facilities\Camp Rio Ropes Course\Civil\X—site.dwg


AutoCAD SHX Text
IN

AutoCAD SHX Text
OUT

AutoCAD SHX Text
BY

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
No.

AutoCAD SHX Text
11/7/2024


GENERAL NOTES:
|. THE CONTRACTOR SHALL VERIFY ALL DIMENSIONS PRIOR TO CONSTRUCTION.
2. ALL WORK SHALL CONFORM TO THE FOLLOWING STANDARDS:

2021 INTERNATIONAL BUILDING CODE

AISC STEEL CONSTRUCTION MANUAL, 14TH EDITION

2018 NATIONAL DESIGN SPECIFICATION FOR WOOD CONSTRUCTION
AMERICAN WELDING SOCIETY, DLI

ACI 318-19 BUILDING CODE REQUIREMENTS FOR STRUCTURAL CONCRETE'
ANSI/ACCT-03 2019

ASTM 2959

3. CONTRACTOR SHALL CAREFULLY REVIEW THE DRAWINGS TO IDENTIFY THE EXTENT OF
THE SCOPE OF WORK, VISIT THE SITE TO RELATE THE SCOPE OF WORK TO EXISTING
CONDITIONS, AND DETERMINE THE EXTENT TO WHICH THOSE CONDITIONS AND PHYSICAL
SURROUNDINGS WILL IMPACT THE WORK.

4. THE CONTRACTOR SHALL RESOLVE ANY CONFLICTS ON THE CONSTRUCTION
DOCUMENTS BEFORE PROCEEDING WITH THE WORK.

5. ANY DEVIATION FROM THE APPROVED SET OF STRUCTURAL DRAWINGS SHALL BE
SUBMITTED TO THE ENGINEER OF RECORD FOR APPROVAL BEFORE PROCEEDING WITH THE
WORK. SUBSTITUTIONS OF PRODUCTS OR MATERIALS SPECIFIED ON THE CONSTRUCTION
DOCUMENTS ARE NOT ALLOWED.

6. THE CONTRACT DOCUMENTS REPRESENT THE FINISHED STRUCTURE. THEY DO NOT
INDICATE THE METHOD OF CONSTRUCTION. THE CONTRACTOR SHALL PROVIDE MEANS,
METHOD, TECHNIQUES, SEQUENCE, AND PROCEDURE OF CONSTRUCTION AS REQUIRED.

7. THE CONTRACTOR SHALL PROVIDE ALL NECESSARY SHORES, BRACES AND GUY CABLES
REQUIRED TO SUPPORT ALL LOADS TO WHICH FOOTINGS, COMPONENTS, SOILS, OTHER
STRUCTURES AND UTILITIES MAY BE SUBJECTED DURING CONSTRUCTION.

8. CONTRACTOR SHALL REVIEW SHOP DRAWINGS FOR COMPLETENESS AND COMPLIANCE
WITH CONTRACT DOCUMENTS.

9. THE STRUCTURAL ENGINEER SHALL BE NOTIFIED IF DRAWINGS BY OTHERS REQUIRE
MODIFICATIONS TO STRUCTURAL MEMBERS AS SHOWN IN THIS SET OF STRUCTURAL
DRAWINGS PRIOR TO PROCEEDING WITH THE WORK.

CONSTRUCTION NOTES:

|. HORIZONTAL DIMENSIONS SHOWN FOR TIMBER FRAMING ARE APPROXIMATE AND WILL
DEPEND ON THE SIZE OF THE TOWER POLES AND BEAMS AT EACH LOCATION. CONTRACTOR
SHALL MAKE ADJUSTMENTS AS REQUIRED TO ENSURE THAT COMPLETED ASSEMBLIES ARE
PLUMB, FLUSH, LEVEL, AND TIGHT AS SHOWN IN THE DRAWINGS.

2. ALL TIMBER CONNECTIONS TO WOOD POLES SHALL USE OVERSIZED SQUARE WASHERS.

3. BOLT AND THREADED ROD LENGTHS FOR ROUND MEMBERS WILL VARY DEPENDING ON THE
SIZE OF THE MEMBERS BEING CONNECTED.

4. ALL JOISTS SHALL BE HUNG TO BEAMS USING RATED JOIST HANGERS UNLESS LEDGER
BEAMS ARE SPECIFICALLY NOTED.

5. ALL GUY WIRES SHALL BE @1/2 WIRE ROPE (MIN BREAKING STRENGTH = 25,400 LBI.

6. MINIMUM EDGE DISTANCE FOR @5/8-11 BOLTS IS 2 1/2"

CONCRETE AND FOUNDATION NOTES:
I ALL CONCRETE IS REINFORCED AND CAST IN PLACE UNLESS OTHERWISE NOTED.

2. ALL STRUCUTRAL CONCRETE SHALL NORMAL WEIGHT CONCRETE AND HAVE A MINIMUM
COMPRESSIVE STRENGTH OF 4,000 PSI AT TWENTY-EIGHT (28) DAYS.

3. CONCRETE MIXING OPERATION SHALL CONFORM TO ASTM C-94. PORTLAND CEMENT SHALL

CONFORM TO ASTM C-150, TYPE | OR TYPE II, LOW ALKALL NORMAL WEIGHT CONCRETE
AGGREGATES SHALL CONFORM TO ASTM C-33.

4. CONCRETE MIX DESIGN:
MAXIMUM WATER-CEMENT RATIO = 0.50
CALCIUM CHLORIDE ADMIXTURES ARE PROHIBITED

5. PLACEMENT OF CONCRETE SHALL CONFORM TO ACI 301 AND CONTRACT DOCUMENTS.

6. ALL REINFORCING BARS, ANCHOR BOLTS AND OTHER CONCRETE INSERTS SHALL BE WELL
SECURED IN POSITION PRIOR TO PLACING CONCRETE. EXPOSED PORTIONS OF ANCHOR ROD
THREADS SHALL BE PROTECTED FROM CONCRETE DURING POURING.

7.ONLY POUR CONCRETE IF LOW AND HIGH TEMPERATURES FOR ANY POINT UP TO FIVE (5]
DAYS AFTER POURING ARE BETWEEN 35°F AND 85°F.

STEEL, FABRICATION, AND MATERIAL NOTES:
|. MATERIALS SHALL CONFORM TO THE FOLLOWING STANDARDS:

PLATE: ASTM A36

ANGLES: ASTM A36

PIPE: ASTM A53

BOLTS: ASTM A307 UNLESS SPECIFIED OTHERWISE
THREADED ROD: ASTM A193, GRADE B7

NUTS: ASTM A563

WASHERS: ASTM F436

ANCHOR BOLTS: ASTM F-1554

REINFORCING BARS: ASTM 615, GRADE 60
TIMBER POLES: CLASS Il SOUTHERN PINE
DIMENSIONAL LUMBER: NO. 2 SOUTHERN PINE
WIRE ROPE: AS SPECIFIED

2. ALL STEEL WELDMENTS SHALL BE PAINTED OR HOT-DIPPED GALVANISED.

3. ALL HARDWARE SHALL BE RATED FOR USAGE AS PER MINIMUM WORKING LOAD
LIMITS SPECIFIED.

4. ALL CONNECTIONS, WIRE ROPE, WASHERS, AND STRUCTURAL COMPONENTS SHALL
BE HOT DIP GALVANISED STEEL.

5. ALL TIMBER POLES SHALL BE GRADED SOUTHERN PINE. ALL DIMENSIONAL LUMBER
SHALL BE PRESSURE TREATED SOUTHERN YELLOW PINE AND GRADED FOR
STRUCTURAL USAGE.

USAGE NOTES:

I. ADVENTURE PARK AND ZIP LINE TO BE USED SOLELY BY CAMP RIO PATRONS AND TO
BE OPERATED BY CAMP RIO STAFF MEMBERS WHO HAVE BEEN TRAINED IN ITS PROPER
USAGE.

2. MAXIMUM PARTICIPANT WEIGHT OF 250 LB.

3. MAXIMUM OF ONE (1) PARTIPICANT AND ONE () RESCUER PER ELEMENT.

4. STRUCTURE NOT TO BE USED WHEN WIND SPEEDS EXCEED 35 MPH.

5. STRUCTURE AND ALL ASSOCIATED STEEL HARDWARE SHALL BE INSPECTED
REGULARLY FOR WORN, CORRODED, OR DAMAGED COMPONENTS, WHICH SHALL BE
REPLACED PRIOR TO USAGE. SPECIAL CARE SHALL BE TAKEN TO REVIEW COMPONENTS
THAT DIRECTLY SUPPORT HUMAN LIFE AND MORE FREQUENT INSPECTIONS ARE
RECOMMENDED TO ENSURE THAT ALL COMPONENTS ARE FREE OF DAMAGE AND SAFE
FOR USE.

6. PERFORM ALL INSPECTIONS AND MONITORING PER ACCT AND ASTM.

LOADING NOTES:

STRUCTURE IS DESIGNED ACCORDING TO FOLLOWING LOADS:

LIVE:
60 PSF ON ALL PLATFORMS
00 PSF ON STAIRS

WIND:
143 MPH
EXPOSURE CATEGORY “C"
Kz = 0.94,Kd = 085
9z = 418 PSF

SEISMIC:
SEISMIC DESIGN CATEGORY "A"
Ss = 0.038, SI = 0.013, Sms = 0.060
Sml = 0.030 Sds = 0.040, SdI = 0.020
LATERAL FORCE RESISTING SYSTEM IS GUYED POLES

CAMP RIO

EST. 2015

at Lula Sams

280 FISH HATCHERY ROAD
BROWNSVILLE, TEXAS 78520

REVISIONS

REV

DESCRIPTION

DATE

APPROVED

B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE | [1/12/24

DJH

OVERVIEW & NOTES

12 NOVEMBER 2024

DIMENSIONS IN INCHES
UNLESS NOTED
OTHERWISE

TOLERANCES

1PL. +0.1
2PL. +0.02
3PL. +0.005
ANGLE +1°

FRACTION  #1/16

o

DAVID J. HODGES,P.E.

STRUCTURAL ENGINEERING & SOFTWARE SOLUTIONS

83 Oakdale Path

Dallas, Georgia 30157
(404) 452-1364
www.davehodgespe.com

ZIP LINE ADVENTURE PARK

DRAWN

DJH

" 02124

DWG NO.

241258-

REV B

CHECKED

" 2124

SIZE

SCALE N O N E

SHEET

OF 10




10XI10 BEAM\

@1/2 MAILLON RAPIDE
MIN WLL = 3,300 LBS

@3/8 WIRE ROPE
MINIMUM BREAKING STRENGTH = 15,400 LBS

@5/8 EYEBOLT
MINWLL = 5200 LBS '\
USE OVERSIZED WASHER

AND DOUBLE NUTS

TERMINATE END USING
THIMBLE AND SWAGE
OR TWO (2] WIRE ROPE CLIPS

@112 BACK UP WRAP
WITH SINGLE SWAGE

0X10 BEAM

BRAKE TERMINATION

0X10 BEAM

@5/8 MAILLON RAPIDE
MIN WLL = 6,400 LBS

@314 EYEBOLT

MIN WLL = 7,200 LBS
USE OVERSIZED WASHER
AND DOUBLE NUTS

@112 WIRE ROPE

MINIMUM BREAKING STRENGTH = 25,400 LBS
TERMINATE END USING

THMBLE AND TWO (2) SWAGES

OR THREE (3) WIRE ROPE CLIPS

42

/IP TERMINATION

|0X10 BEAM

=
_— —
P
—_—
—_—
P —
—_—
—_—
—_—
— —
_—
—_—
L —

@1/2 WIRE ROPE MINIMUM BREAKING

ESTIMATED TENSION AT REST = 2,000 LBS
MAXIMUM TENSION NOT TO EXCEED 6,800 LBS

—_—

ZIP LINE

STRENGTH = 25,400 LBS

FOR HEAVIEST RIDER

—_——

@318 WIRE ROPE

MINIMUM BREAKING STRENGTH = 15,400 LBS

TERMINATE END USING
THIMBLE AND SWAGE
OR TWO (2] WIRE ROPE CLIPS

@112 WIRE ROPE

MINIMUM BREAKING STRENGTH = 25,400 LBS

TERMINATE END USING
THIMBLE AND TWO (2) SWAGES
OR THREE (3) WIRE ROPE CLIPS

/— POLE

@5/8 EYEBOLT
BI/7 MIN WLL = 5,200 LBS
USE OVERSIZED WASHER

AND DOUBLE NUTS

@112 MAILLON RAPIDE
MIN WLL = 3,300 LBS

\

BRAKE TERMINATION

POLE

N POLE

@3/4 EYEBOLT
MIN WLL = 7,200 LBS

USE OVERSIZED WASHER

w AND DOUBLE NUTS

/IP TERMINATION

POLE

@112 BACK UP WRAP
WITH SINGLE SWAGE

\

@5/8 MAILLON RAPIDE
MIN WLL = 6,400 LBS

ESTIMATED RIDER ENVELOPE

REVISIONS

REV

DESCRIPTION

DATE

APPROVED

B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE | [1/12/24

DJH

7P POI_ES—/

NORTH

100-0"

200-0"

300-0"

400-0"

480-0" ——

\ LANDING PLATFORM

FRACTION  #1/16

o
@)
=)
s
Z”:) PROF”_E 12 NOVEMBER 2024
DIMENSIONS IN INCHES @ 83 Oakdale Path
UNLESS NOTED @ Dallas, Georgia 30157
OTHERWISE DAVID J. HODGES.P.E (404) 452-1364
TOLERANCES STRUCTURAL ENG\'\.IEERING & SOFTWARE :OLJT\ON; WWW~daveh0dgESpe.C0m
1PL. +0.1
2PL. +0.02
3 PL. +0.005
ANGLE +1°

ZIP LINE ADVENTURE PARK

DRAWN

DJH

" 02124

DWG NO.

241258-

REV B

CHECKED

" 2124

SIZE

SCALE

NONE

SHEET

2

OF 10




>

23-0"

NORTH

18-6"

N

Y

2

O
V&

-

[ 1]

23-0" 18-6" \

45°

23-0"

GUY WIRE NOTES:

|. DIMENSIONS SHOWN ARE TYPICAL FOR ALL SIDES OF THE ADVENTURE PARK. ANCHOR
LOCATIONS ARE BASED ON A 45° ANGLE MEASURED FROM THE HORIZONTAL PLANE.
ANCHORS MAY BE MOVED +5' IN ANY DIRECTION AS REQUIRED BASED ON TERRAIN.

2. ALL GUY WIRES ARE @1/2 WITH A MINIMUM BREAKING LOAD OF 25,400 LB.

4. GUY WIRES SHALL HAVE AN INITIAL TENSION OF 1,000 LBS.

5. GUY ANCHORS DENOTED WITH A SINGLE CIRCLE SHALL BE PULL TESTED TO MINIMUM
10,000 LBS. THOSE DENOTED WITH A DOUBLE CIRCLE SHALL BE PULL TESTED TO
MINIMUM 20,000 LBS.

6. SEE DETAIL ON THIS SHEET FOR GUY TERMINATION DETAILS.

0,

(/
)
Wi

N

18-6"

22'-8"

5

5

23-0"

|18'-6"

i 33-2
T ———
L] ]
24
228"
N ™ |
Y N D
18-6"
23-0"
|18'-6" 23-0"

LEVEL 2 GUY WIRE

FASTEN TO SATELLITE
POLE 2" BELOW TOP
OF SATELLITE POLE

LEVEL | GUY WIRE
FASTEN TO SATELLITE
POLE JUST BELOW
LEVEL | PLATFORM

IV
[ 18-0"
I

24-0"

LA

L

SECTION A-A

TYP 7 PL

16-0"

L4
LA
L1 |

@1/2 WIRE ROPE

TERMINATE BOTTOM WITH
THREE (3] CROSBY WIRE ROPE CLIPS

TOUGH ONE
HELICAL ANCHOR

i

L

|V

I~ LANDING PLATFORM

SEE SHEET 9
FOR DETAILS

@518 WASHER

@5/8-11 ANGLE THIMBLE EYEBOLT
USE STANDARD THIMBLE EYEBOLT
WHEN FASTENING GUY WIRE TO
HORIZONTAL BEAM

TERMINATE TOP WITH TWO (2]
MECHANICAL SWAGES

2" SQUARE WASHER

@5/8-11 NUT

)
\\\\\\\\\——CLASSIIPOLE

x DAYLIGHT POINT

GUY WIRE ASSEMBLY

REVISIONS

REV DESCRIPTION DATE APPROVED
B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE [1/12/24 DJH
-g\\\\\\

GUY ANCHOR PLAN

4 OAVID J. HODGES 4

R
ef fp@}.ﬁ/@g N%E?-'\\ A
“ (5" *tecececer®’ :7\ /\
WOSIONAL B
\\‘kk\\%&

12 NOVEMBER 2024

OTHERWISE
TOLERANCES

DIMENSIONS IN INCHES @
UNLESS NOTED @

DAVID J. HODGES,P.E.

STRUCTURAL ENGINEERING & SOFTWARE SOLUTIONS

83 Oakdale Path

Dallas, Georgia 30157
(404) 452-1364
www.davehodgespe.com

1PL. +0.1
2PL. +0.02
3PL. +0.005
ANGLE +1°

FRACTION  #1/16

ZIP LINE ADVENTURE PARK

DRAWN

DJH

DWG NO.

" 02124

241258-

REV E3
SHEET

CHECKED

" 2124

SIZE SCALE

NONE

3 OFIO




REVISIONS

REV DESCRIPTION DATE APPROVED
#5/8-11 EYEBOLT B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE | 11/12/24 DJH
— : — - - N POLE OR ®3/8 WIRE ROPE
: OXIOBEMM N | /)
< ) : TERMINATE ENDS USING THIMBLE
: “ R ) ) . AND TWO (2) WIRE ROPE CLIPS
) . a . CE=-———=——=—=—71 OR SINGLE MECHANICAL SWAGE
. : < R SATELLITE POLES
pay Pl < <
A .. X NORTH
< 2 < \
N < v a 9 N B —
? ! \_
: - q\¥ 6X #5 REBAR @ 8" ON CENTRE
. ) : BOTH DIRECTIONS
a, . aq 3" CLEAR MINIMUM EACH SIDE 9-7"
40" | . . . . : @5/8-11 THIMBLE EYEBOLT
< a v
. . a « POLE OR ®3/8 WIRE ROPE
. — IOXIOBEAM NV /)
aq ; : . 3 TERMINATE ENDS USING TWO (2)
. a « . I WIRE ROPE CLIPS OR SINGLE
- o o . 22-8 cF=—=—===-1 MECHANICAL SWAGE
Py ) < ) < 4 N
: oo . Al . I 22-8" 22-8"
< ] . . . 13-
A g < 49
< < A 9 <
. . : 4 - ELEMENT HANGING DETAILS
>® ————-d9
4-0 p N
5-10 p / \ N STEPS
o 10-0" / N PERIMETER
- 1@ ®'/ g VERPOLES | AUGER @82-0" HOLE TO REQUIRED DEPTH
< < a9 v
= 4 . . . u = : CENTRAL : /\/ 2. INSTALL HELICAL PIERS ACCORDING TO THE
E| | | | ) . e . . | | | |E TOWER POLE‘\b FOLLOWING ULTIMATE AXIAL LOADS:
Nn=. - “ B Q - =l N T '
I'-4 —l - o . o . p— | | PERIMETER TOWER POLES: 15,000 LBS
4 . o . . | | CENTRAL TOWER POLE: 32,000 LBS
< a9
! SATELLITE POLES: 28,000 LBS
o — — v v —” . -—(D\ /Q) ZIP POLES: 15,000 LBS
= : ; o | 1 3CR N Y ZIP PLATFORM POLES: NO HELICAL REQUIRED
5-10" \ /
SPIRAL STAIR FOUNDATION 3 * \ / TOP OF PIER CAP SHOULD BE I'-0" ABOVE
CLR N\ / BOTTOM OF HOLE.
————— CLASS Il POLE
\ 3. FILL BASE OF HOLE WITH I'-0" OF GRAVEL.
9-7" 131" 5-10" —=f 8-3" =—5-10 131" 9-7"
4. PLACE POLE IN HOLE AND POSITION AND
22'-8" 20"-0" 22'-8" PLUMB POLE AS REQUIRED.
_J\f_ 5. FILL VOID WITH EARTH AND TAMP.
|0X10 PERIMETER BEAM
P AT PLATFORM LEVEL 2
B
GRADE — ~—"2-0
ADVENTURE EXPERIENCES \
DAVIT ARM FOR — T —TTT—
PERIMETER POLE HANDICAP ACCESS MEME EMEM
/ PLATFORM RAILINGS PART NUMBER: #725 =MEEN NEINE
SEE SHEET 7 FOR DETALS MINIMUM CAPACITY |||I= =|||
281" = OF 350 LBS
CONTINUOUS BELAY — N\ )
INSTALL PER MANUFACTURER'S INSTRUCTIONS FASTEN TO TOWER POLE
[BY OTHERS) PER MANUFACTURER'S
REQUIREMENTS
050" COURSE ELEMENT Lo
- 1L @3/8 WIRE ROPE ELEMENT CABLES ROOF ASSEMBLY 1
2X8 VERTICAL DECKING MAX TENSION DURING USE = 5,760 LBS SEE SHEET 8 TOWER PERIMETER POLES
————— 30X 8X SATELLITE POLES
FASTEN TO DBL 2XI0 USING f 5X
# W " _ _ _
TWO (2) #9 SCREWS PER BOARD 420 v =
[ 11
216" ]]: DBL 2XI0 N : 1 =
0X10 PERIMETER BEAM FASTEN PLIES TOGETHER oA
AT PLATFORM LEVEL | USING #8 SCREWS PLACED \ 8-l
/ AT 12" ON CENTRE
4 4%X4 STUB i % : o
ADVENTURE EXPERIENCES > }
[ CUT TO LENGTH . T . SINGLE POLE PLATFORM SRAVEL /_rw =il *
2X8 VERTICAL DECKING ] N %ﬂﬁ_ﬁ 1 " PART NUMBER: #405 =I|lll =
ERTICAL DECKING \ / N PLATFORM 2 LEVEL \N 1— = ! i B TYP 3 PL EACH SATELLITE POLE = =
MEMBERS USING TWO 12) ' TOWER POLE SEE SRS T I_l\]gT_AI_I_ PER MANUFACTURER'S ] -
GRK SCREWS PER MEMBER / | —
/ - —— T ] [ s F N~ MSTRUCTIONS \
T e e — H Ir~N——— |
Fe==——%v~ | [ BY OTHERS) b HELICAL PIER
140" — ]]_F L , H [ e )
I 1l
<+ TIHEAC —
DECK BOARD i —
NAILER GIRTS \ ! :
PLACE AT MIDSPAN OF L _ _ _,/ 19-0" —————
DECK BOARDS BE THEEN ok Locore Lateor | LeveL Ny 7 \V/4 Y17 )4 POLE EMBEDMENT
_____ 10— DETAIL L ‘e 1 2k RN
SEE DETAIL ON RIGHT TYP 4 PL FASTEN THROUGH DBL 2X10 il =" <E OF .TE* W
————— AND 4X4 STUB AND DIRECTLY e i g\ I W J,‘g
4X INTO TOWER POLES CLIMBING WALL A Z o %@ L h
__________ g xs /{ “x d
PLACE (2" FENDER WASHER SEE DETAIL I Rl IO A PR -
AT FASTENER HEAD ON'THIS SHEET I ilis /7 DAVID J. HODGES
”,” '-I-— ’c.btc- --------- ;:..; --------- :.-.-5
g 2T ES
41| ]]Z CENTRAL _ i ) N 14? <O S Z
|0X10 CLIMBING WALL TOWER i Lo s /CENSEN
/ HORIZONTAL GIRT POLE N i‘*{ 58 0'?:."5&‘-.@::
FASTEN TO PERIMETER 3-0" — t A
POLES USING @5/8-11 = NOVEMBER 2024
POLES USING 258 § Z ﬁ % ! § Z “H \ TOWER PLAN AND ELEVATION
_____ O” -— o 3 -l—'
/ 3X \ DIMENSIONS IN INCHES @ 83 Oakdale Path
C TOWER \/|EW FAC”\]G SOUTH SPIRAL STAIRS UNLESS NOTED ®|]A\II|] ). HODGES.P.E Dates,Geogi 0157
O” '._ i (BY OTHERS] TOLERANCES STRUCTURALENG\\.IEERING&SOFTWARE:OLJT\ON; WWW‘daVehOdgESpe‘Com
_____ 1PL. +0.1
SEE FOUNDATION SPC 0005
CLIMBING WALL DETAIL ON THIS SHEET INCLEON i /IP LINE ADVENTURE PARK

DRAWN

DWG NO.

DIH | 10121124

241258-

CHECKED

SIZE

" 2124

SHEET

SCALE N O N E

REV B
4  OF I0




NORTH

//
//
\\__//
\\_//

A\

A}

A\

/[ AN
/[ AN

|/

|0XI0 PERIMETER BEAMS

SEE SECTION F-F

/7 CENTRAL POLE

2X8 JOISTS PLACED

AT 16" ON CENTRE
JOISTS SHALL BE FLUSH
WITH TOP OF 10X10
PERIMETER BEAMS

2X6 DECKING
FASTEN TO 2X8 JOISTS USING
TWO (2) #9 SCREWS PER JOIST
FASTEN TO 10XI10 PERIMETER
BEAMS USING ONE (I GRK SCREW
PER DECK BOARD

FOR DETAILS /— g)E(RiMETER POLES
) W L 4X4XI/4
[ o . ] LONG CLIPS
- [T >
L4X4X1/4 —1 \
SHORT CLIPS
X

0X10 SUPPORT BEAM

SEE SECTION B-B
FOR DETAILS

6X12 BEAMS

SEE SECTION C-C
FOR DETAILS

0XI10 PERIMETER BEAM

REST ON 6X12 BEAMS AND
FASTEN TO PERIMETER POLES
AS SHOWN IN SECTION F-F

FASTEN 10X10 PERIMETER
BEAM TO 6X12 BEAMS USING
@12 x 14 LAG SCREWS
COUNTERBORE TO AVOID
INTERFERENCE WITH DECKING

/— PERIMETER POLES

6X12 BEAMS

FASTEN TO 10X10 SUPPORT BEAM
USING L4X4X1/4 SHORT CLIPS AND
FOUR (4) @1/2 x 5 LAG SCREWS

L4X4X!/4
SHORT CLIPS

[ I,
L

Y

[~~~ 10XI0 SUPPORT BEAM

|0X10 RADIAL BEAMS
FASTEN TO TOWER
SATELLITE POLES USING
L-BRACKETS

FASTEN TO 6XI2 BEAMS
USING L4X4XI1/4 LONG CLIPS

— L-BRACKETS

FASTEN TO PERIMETER POLES
USING ONE (1) @5/8-11 BOLT
AND ONE (1) @5/8 x 6 LAG SCREW

SECTION B-B

PERIMETER POLES
8X

CENTRAL POLE

FASTEN TO L-BRACKETS AT
EACH END USING ONE (1)

@112 x 5 LAG SCREW

FASTEN TO PERIMETER POLES
USING ONE (1) @5/8-11
THROUGH BOLT

10X10 SUPPORT BEAM
FASTEN TO TOWER
SATELLITE POLES
USING L-BRACKETS

REVISIONS

REV DESCRIPTION

DATE

APPROVED

B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE | [1/12/24

DJH

10X10 PERIMET

LAG SCREWS

L-BRACKET

s
o [™
T~ | BRACKET
FASTEN TO PERIMETER
] POLE USING TWO (2]
?518 x 6 LAG SCREWS
SECTION F-F

Ve PERIMETER POLE

I‘—
o ‘% ENSURE BOTH
j_@ OT EQUALLY SUPPORTED BY

ER BEAMS

REST ON L-BRACKET AND
FASTEN TO PERIMETER POLES
USING TWO (2) @5/8 x 16

BEAMS ARE

|0X10 PERIMETER BEAM \ / [0X10 RADIAL BEAM

FASTEN TO L-BRACKET USING
ONE (I} @1/2 x 5 LAG SCREW

NOTE: DECK AND JOISTS
NOT SHOWN FOR CLARITY.

6X12 BEAMS

FASTEN TO CENTRAL
TOWER POLE USING
L-BRACKETS
FASTEN TO 10XI10
SUPPORT BEAMS

10X10 PERIMETER

BEAMS

SEE SECTION F-F ON
THIS SHEET FOR DETAILS

USING L4X4X1/4 8X
SHORT CLIPS
10X10 PERIMETER BEAMS
_____ CENTRAL POLE
SEE SECTION F-F PERIMETER POLES
FOR DETAILS /_ 8y
|
° \ *
L4X4XI/4 : N L4X4XI/4 e \
SHORT CLIPS ' LONG CLIP 6X12 BEAMS
“““ SEE SECTION C-C
r 24 = FOR DETAILS
X
10XI0 SUPPORT BEAM

SEE SECTION B-B
FOR DETAILS

CENTRAL TOWER POLE —\

| —
= = < = }
L-BRACKETS
FASTEN TO TOWER POLE USING
{F =< =) TWO (2) @#5/8 x 6 LAG SCREWS
|OX10 RADIAL BEAMS
/ PLACE ON TOP OF 6X12 BEAMS
AND FASTEN TOGETHER USING
L4X4X1/4 LONG ANGLE CLIPS
0 AND FOUR (4) @1/2 x 5 LAG SCREWS
1l
= = L4X4X1/4
f | LONG CLIP
I I
I I ©X12 BEAMS
[ 1 -
FASTEN TO L-BRACKETS
USING @1/2 x 5 LAG SCREW
= — — — =B

-\\ L -BRACKETS

| E = < A
E;\_S_%EN TO TOWER POLE USING
ONE (1) @5/8-11 THROUGH BOLT
AND TWO (2) @5/8 x 6 LAG SCREWS
= \
ATREOETEY,
SECTION C-C Fa oy,
gxs LWy

-------------------------------

PLATFORM | ASSEMBLY

= Lok Ngﬁ?.;‘&

X W

. .
. B
--------

AR g

KR4

12 NOVEMBER 2024

DIMENSIONS IN INCHES

UNLESS NOTED @@

OTHERWISE DAVID J. HUDGES, PE.

TOLERANCES STRUCTURAL ENGINEERING & SOFTWARE SOLUTIONS

83 Oakdale Path

Dallas, Georgia 30157
(404) 452-1364
www.davehodgespe.com

1PL. +0.1
2PL. +0.02
3PL. +0.005
ANGLE +1°

FRACTION  #1/16

ZIP LINE ADVENTURE PARK

DRAWN

DWG NO.

DIH | 10121124

241258-

REV B

CHECKED

SIZE SCALE

" 2024 D NONE

SHEET

5

OF 10




L4X4XI1/4
SHORT CLIPS

H

NORTH

U

\\__//

2X8 JOISTS PLACED

AT 16" ON CENTRE
JOISTS SHALL BE FLUSH
WITH TOP OF 10X10
PERIMETER BEAMS

\ N\

,

\\_//
/[ AN
/[ AN

P4

N 2X6 DECKING
FASTEN TO 2X8 JOISTS USING
TWO (2] #9 SCREWS PER JOIST
N FASTEN TO 10X10 PERIMETER
BEAMS USING ONE (1) GRK SCREW
N PER DECK BOARD
ZIP LAUNCH PAD —/ éﬁé@r”&ms
SEE DETAIL “G" o~
ON SHEET 7
- s .
ZIP LAUNCH PAD / CENTRAL POLE
PERIMETER POLES
/ 8X
©
\— |0XI0 L
PERIMETER .
BEAMS ~
~— 6XI12 BEAMS
SEE SECTION H-H
FOR DETAILS
] N
‘4 4 L4X4X1/4 — \. N I8
SHORT CLIPS N\ |0XI10 STANCHIONS
2X SEE SECTION H-H

FOR DETAILS

SEE SECTION I-1 ON
SHEET 7 FOR DETAILS

|0XI10 RADIAL BEAMS
FASTEN TO TOWER
SATELLITE POLES USING
L-BRACKETS

PERIMETER POLES 6X12 BEAMS

8X :

FASTEN TO CENTRAL
TOWER POLE USING
L-BRACKETS

SEE SECTION H-H ON
SHEET 7 FOR ATTACHMENT
TO 10XI0 STANCHIONS
SEE SECTION C-C ON
SHEET 5 FOR ATTACHMENT
TO 10X10 RADIAL BEAMS

FASTEN TO 6X12 BEAMS
USING L4X4X1/4 LONG CLIPS

CENTRAL POLE

NOTE: DECK AND JOISTS
NOT SHOWN FOR CLARITY.

|0X10 BELAY BEAMS

SEE SECTION |-I ON
SHEET 7 FOR DETAILS

8X
|0XI0 PERIMETER
ZIP LAUNCH PAD HEAMS
SEE SECTION F-F ON
SEE DETAIL G
ON SHEET 7 10X10 STANCHIONS SHEET 5 FOR DETALS
SEE SECTION H-H 8x
FOR DETAILS
4X
CENTRAL POLE
/ PERIMETER POLES
/ 8X
I o 3
o ©
| y 2 \— L4X4XI/4 * \
- - LONG CLIP 6XI12 BEAMS
L4X4X1/4 oxio__ —+of | | |
G SHORT CLIPS AR SEE SECTION H-H
————— FOR DETAILS
2X
0 O
q ° [ ] d

|0XI10 BELAY BEAMS

SEE SECTION I-1 ON
SHEET 7 FOR DETAILS

REVISIONS

REV DESCRIPTION DATE APPROVED

B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE | [1/12/24 DJH

/ L-BRACKET

|0X10 BELAY BEAMS
TRIM AND MITRE ENDS
TO FIT PERIMETER POLE
FASTEN TO PERIMETER
POLE USING TWO (2)
@58 x 12 LAG SCREWS
ENSURE BEAMS ARE
EQUALLY SUPPORTED BY
L-BRACKET

PERIMETER POLE

/ / |0X10 PERIMETER BEAM

DETAIL J
_.5\\\\\\
AR -T-§*4\ Y
;CO.«.'" ‘e ':‘p 'g’
g xS K ** /)
FriLINLLL )
4 ..DAVID J. HODGES 4
0122728 i 2
e@ o, LIoENSED Ao
W HRear ENDT o
v A
PLATFORM 2 ASSEMBLY  *2NOVEMBER2024
DIMENSIONS IN INCHES 83 Oakt.jale Path
i QQWD J. HODGES, P.E e
TOLERANCES STRUCTURAL ENG\N‘EERING & SOFTWARE’SOLJT\DN; WWW~daV€h0dgeSpe.C0m
A o it ZIP LINE ADVENTURE PARK
DRAWN DJH DATE |O/2|/24 DWG NO. 24 | 258_ | REV B
CHECKED DATE SIZE SCALE SHEET
11112124 D NONE 6 OF I0




FASTEN 10X10 PERIMETER
BEAM TO 6X12 BEAMS USING
D112 x 14 LAG SCREWS

COUNTERBORE TO AVOID
INTERFERENCE WITH DECKING

46

|12

-

L4X4X!/4
SHORT CLIPS

\ |0X10 BELAY BEAMS

SEE SECTION I-I ON
THIS SHEET FOR DETAILS

SEE DETAIL "J" ON SHEET
6 FOR MITRE DETAILS

SECTION H-H

——PERIMETER POLE

/ |0X10 RADIAL BEAM
FASTEN TO L-BRACKET USING

/ ONE (I) @1/2 x 5 LAG SCREW

i \
o 0XI10 PERIMETER BEAM

SEE SECTION F-F ON
SHEET 5 FOR DETAILS

o) \
L-BRACKET

FASTEN TO PERIMETER
POLE USING TWO (2]
@58 x 6 LAG SCREWS

Vs

|0XI10 BELAY BEAMS

REST ON L-BRACKET AND FASTEN
TO PERIMETER POLE USING

FOUR (4] @5/8 x 12 LAG SCREWS
ENSURE BOTH BEAMS ARE
EQUALLY SUPPORTED BY
L-BRACKET

SEE DETAIL J ON SHEET

6 FOR MITRE DETAILS

FASTEN TO PERIMETER POLE

| BOLT

AT TOP AND ONE (1) @5/8 x 6
LAG SCREW ON BOTTOM

(o) (@)
(@) (@)
o |
T~ -BRACKET
(O] USING ONE (1) @35/8-
SECTION I[-I

0XI10 PERIMETER BEAM
SEE SECTION F-F ON
SHEET 5 FOR DETAILS

6X12 BEAMS

REST IN NOTCHES CUT INTO
[0X10 STANCHIONS AND
FASTEN TOGETHER USING
ONE (1} 5/8-11 THROUGH BOLT
OR THREADED ROD

[0X10 STANCHIONS

NOTCH AT TOP TO RECEIVE
6X12 BEAMS

FASTEN TO 10X10 BELAY
BEAM USING L4X4X1/4 SHORT
CLIP AND FOUR 4) @1/2 x 5
LAG SCREWS

? \
PERIMETER POLES

6X6 BEAM

CUT AT 20° ANGLE TO

RECEIVE DECKING

PERIMETER POLE

10X10 PERIMETER
BEAM

PLATFORM RAILING TYP DETAIL

FASTEN TO 10XI10
PERIMETER BEAM USING
@12 x 10 LAG SCREWS

AT 16" ON CENTRE )

6X6 BEAM

CUT AT 20° ANGLE TO
RECEIVE DECKING
FASTEN TO 6X12 BEAMS
USING @1/2 x 10

LAG SCREWS

NOTCH END TO RECEIVE
4X4 BEAMS AND 2X6 DECKING

2X6 DECK BOARDS

FASTEN TO 4X4 BEAMS
AT EACH END USING
TWO (2) #9 SCREWS

\\\

IINN [

I
|
]
U

\

A\

\

/TOWER POLES
2X8 TOP RAIL
COPE AROUND TOWER
POLES AS REQUIRED - [ 2X4/2X6 RAIL BORDER
/[ 4X4 WRE MESH
— — — | — 2X4 WEDGE
N T T T T T T T T T ] ‘——7/——/———————/ » 3X
| / ll |
- J
; 3-6"
I
\
1 | [ ]
= [ 4%4 POST

FASTEN TO BEAM USING
TWO (2) @1/2-13 UNC
BOLTS AT MIN 4" ON CENTRE

.

36

DETAIL G

REVISIONS

REV DESCRIPTION

B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE

[1/12124 DJH

2X8 TOP RAIL
»{;_ 2X4 WEDGE
é / 2X4/2X6 RAIL BORDER
il PLACE 4X4 MESH BETWEEN
TOWER POLE—_| BORDER MEMBERS
3 ! .~ 4X4 POST
MIN 4 —
@1/2-13 UNC BOLTS

PLATFORM 2 ASSEMBLY

{

12 NOVEMBER 2024

DATE APPROVED

DIMENSIONS IN INCHES
UNLESS NOTED
OTHERWISE

TOLERANCES

o

DAVID J. HODGES,P.E.

STRUCTURAL ENGINEERING & SOFTWARE SOLUTIONS

83 Oakdale Path

Dallas, Georgia 30157
(404) 452-1364
www.davehodgespe.com

B on i ZIP LINE ADVENTURE PARK
DRAWN DJH DATE |O/2|/24 DWG NO. 24 | 2 58_ | REV B
CHECKED DATE | |/| 2/24 SIZE SCALE NONE SHEET 7 OF I O




NORTH

4X8 ROOF RAFTERS

TYP 8 PL
CENTRAL POLE
4X8 ROOF RAFTERS
8X
‘ ‘ 10XI0 PERIMETER BEAMS
SEE SECTION F-F ON
3'10“ SHEET 5 FOR DETAILS
o ‘ \ [
(] / \ ]
> vd T <
4 Laxaxia—"1 o . I8
SHORT CLIPS
T ox  ~—~—— PERIMETER POLES
6X12 BEAMS 8X

SEE SECTION B-B AND
SECTION C-C ON SHEET
5 FOR DETAILS

|0XI0 BELAY BEAMS
SEE SECTION I-I ON
SHEET 7 FOR DETAILS
SEE DETAIL "J" ON
SHEET 6 FOR MITRE
DETAILS

SPAN BETWEEN 4X8
ROOF RAFTERS PLACED
AT 24" ON CENTRE

4X8 ROOF RAFTERS

SEE SECTION K-K
FOR DETAILS

[0XI0 PERIMETER BEAMS

SEE SECTION F-F ON
SHEET 5 FOR DETAILS

T~ cenTRAL POLE

NOTE: ROOF PURLINS NOT
SHOWN FOR CLARITY.

CENTRAL POLE

4X8 ROOF RAFTERS

8X

4X8 ROOF RAFTER

NOTCH AT BAST TO

FIT OVER 10X10 BEAM
FASTEN TO CENTRAL POLE
AT TOP USING TWO (2)
TIMBERLOK FASTENERS
FASTEN TO 10X10 PERIMETER
BEAMS USING TWO (2)
TIMBERLOK FASTENERS

<—I84—‘

PERIMETER POLE —]

|4
L |
I

SECTION K-K

6X12 BEAMS
2X

8X

CENTRAL POLE

PERIMETER POLES

\ |0XI0 PERIMETER BEAM

3-0"

[0X10 BELAY BEAMS
SEE SECTION I-1 ON
SHEET 7 FOR DETAILS
SEE DETAIL “J" ON
SHEET 6 FOR MITRE
DETAILS

8X

O
\ 6X12 BEAMS

PERIMETER POLES

REVISIONS

REV DESCRIPTION

DATE APPROVED

B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE | [1/12/24 DJH

SHEET METAL

ROOF PANELS
FASTEN TO 2X8 ROOF
PURLINS USING #9
SCREWS PLACED AT
6" ON CENTRE

SEE SECTION B-B AND
AN SECTION C-C ON SHEET
5 FOR DETAILS

WO AIENSED S
\\\ SIONALES =
\\\\\\""
ROOF ASSEMBLY 12 NOVEMBER 2024
DIMENSIONS IN INCHES 83 Oakc.iale Path
i QQWDJ HODGES, P.E e
TOLERANCES STRUCTURAL ENG\N‘EERlNG & SOFTWARE’SOLJTlON; WWW~daVehOdgespe~C0m
o T /IP LINE ADVENTURE PARK
DRAWN DJH DATE |O/2 |/24 DWG NO. 24 | 258_ | REV B
CHECKED DATE SIZE SCALE SHEET
[1/12/24 NONE 8 OF I0




4-0"

ZIP PLATFORM
ACCESS STAIRS

9-0"

10-0"

NORTH
[6'-0"
8-0" 8-0"
2X10 JOISTS PLACED
AT 16" ON CENTRE
514 DECK BOARDS
l:_;\_S_'I_'EN TO 2X8 JOISTS
USING TWO (2) #9
| SCREWS PER BOARD
/ U
[ )
| \/
X
\
\
//
\§>
[2'-0" [2'-0"
24'-0"
27'-3"

52"

FASTEN TO POLES USING

FASTEN TO POLES USING
ONE (1] @5/8-11 BOLT AND
ONE (1) @5/8 x 6 LAG SCREW

@5/8-11 BOLT AT EACH END

\ CLASS Il POLES

SEE SHEET 4 FOR

\~ |0XI10 BEAMS

FASTEN TO L-BRACKETS USING
@112 x 5 LAG SCREW

FASTEN TO POLES USING
@5/8-11 BOLT AT EACH END

POLE EMBEDMENT

REVISIONS

REV DESCRIPTION

DATE

APPROVED

B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE

[1/12124

DJH

RAIL ASSEMBLY

SEE SHEET 8
FOR DETAILS

ZIP PLATFORM
ACCESS STAIRS
7:11 RISE/TREAD

RATIO REQUIRED
INSTALL 4" THICK
FOOTER AT BASE

FASTEN STRINGERS

10 10X10 GIRT AT
TOP USING RATED

STEEL HANGERS

LT ULy

MNAVLVV VY

|2'-8"

. 10-0" | -~

o ®

ZIP LANDING PLATFORM ~ 12Novevserzozs

DIMENSIONS IN INCHES

UNLESS NOTED @@

TOLERANCES DAVID J. HODGES,P.E.

STRUCTURAL ENGINEERING & SOFTWARE SOLUTIONS
1PL. +0.1

83 Oakdale Path

Dallas, Georgia 30157
(404) 452-1364
www.davehodgespe.com

2PL. +0.02

moe ZIP LINE ADVENTURE PARK

DRAWN DWG NO.

DIH | 10121124

241258-

REV B

SIZE SCALE

" 2024 D NONE

CHECKED

SHEET

9

OF 10




ADVENTURE EXPERIENCES L-BRACKET
PART NUMBER: #419

L4X4XI1/4
LONG CLIP
Qry: 4

QTY: 64
GUSSET
2X
TYP
2 PL
——I fa— (| 1/4)
.|= 18 =||
| 7/18 —
TYP T
2 PL | 1 | [
[ L @ |
| 6 | | /8 TYP
\ | | | 2 PL
-— - < [\ | ﬁ
|
e 83/4—— | |/Z|-7 * (.273)1|<——'—(I.37)
C3X35 172
_ a —-{— (300)

PART "A" - - -® -
QTY: | PER ASSY

\—ZX @ 1116

——i|<— (.132)

l«—— 4 5/8

; —| 1718 ('273)__| f—=—11.37)
o e (3.00)
PART "B" r - - -1 — - (3
QTY: | PER ASSY

) ||/|6J

|
el 132)

GUSSET
3/16 PL
QTY: 2 PER ASSY

——H<—(3/|6)

45°

]

x
b

L4X4XI1/4
SHORT CLIP
QTy: 12

2>:( @ 5/8 \\\
1

|
|

—
S

REVISIONS

REV DESCRIPTION

DATE APPROVED

B SPECIFIED MFG AND PART NUMBERS FOR HARDWARE | [1/12/24 DJH

FABRICATION DETAILS

i ICENSERS
L a s
12 NOVEMBER 2024

DIMENSIONS IN INCHES @
UNLESS NOTED @

83 Oakdale Path
Dallas, Georgia 30157

OTHERWISE (404) 452-1364
1 PIOLERANCEE 1 QR&!RIALDEN!\VSEEHNGU&Qogvég,SO%TWEN; www.davehodgespe.com
2PL. 0,02
3 PL. +0.005

Bron s ZIP LINE ADVENTURE PARK

DRAWN

DJH

DWG NO.

" 10121724 241258 B

CHECKED

SIZE SCALE

" 2124

SHEET

NONE 10 OF IO




